
Model Question Paper 
BUSINESS MATHEMATICS 

O;kolkf;d xf.krO;kolkf;d xf.krO;kolkf;d xf.krO;kolkf;d xf.kr    
Class - XII 

TIME – 3 HOURS         FULL MARKS – 100 

          PASS MARKS  -    33

        

GROUP – A ¼[k.M & v½ ¼[k.M & v½ ¼[k.M & v½ ¼[k.M & v½ 15 x 1 = 15 

Choose the correct answer ¼l¼l¼l¼lgh fodYi dk pquko djsaAgh fodYi dk pquko djsaAgh fodYi dk pquko djsaAgh fodYi dk pquko djsaA½½½½ 
 

1.  
The value of determinante 

9 3

12 4
 is - 

1 

  (A) 0    (B) 4   (C) 6   (D) 12  

  
lkjf.kd 

9 3

12 4
dk eku gS & 

 

  (A) 0    (B) 4   (C) 6   (D) 12  

2.  
If 

2 3

4 5
A

 
=  
 

and 
1 3

4 5
B

− − 
=  

− − 
then the value of A – B will be 

1 

  
(A) 

1 0

0 0

 
 
 

  (B) 
3 6

8 10

 
 
 

  (C) 
2 9

16 25

− − 
 
− − 

  (D) 
1 0

0 1

− 
 
 

 
 

  
;fn 

2 3

4 5
A

 
=  
 

vkSj 
1 3

4 5
B

− − 
=  

− − 
] rks  A – B dk eku gksxk & 

 

  
(A) 

1 0

0 0

 
 
 

  (B) 
3 6

8 10

 
 
 

  (C) 
2 9

16 25

− − 
 
− − 

  (D) 
1 0

0 1

− 
 
 

 
 

3.  The harmonic mean of 5, 2, 8, 10  is - 1 

  (A) 5.32  (B) 4.32  (C) 4    (D) 5  

  5] 2] 8] 10 dk gjkRed ek/; gS &  

  (A) 5.32  (B) 4.32  (C) 4    (D) 5  

4.  If 70, k, 100 are in AP, the value of k is - 1 

  (A) 80   (B) 90   (C) 85    (D) 95  

  ;fn 70, k, 100 AP esa gksa rks k dk eku gS &  

  (A) 80   (B) 90   (C) 85    (D) 95  

5.  The value of 
6

10c  is - 1 

  (A) 210  (B) 100  (C) 60    (D) 1024  

  
6

10c dk eku gS &  

  (A) 210  (B) 100  (C) 60    (D) 1024  

6.  If 
3

60np = , then the value of n is - 1 

  (A) 3   (B) 5   (C) 9    (D) 20  

  ;fn 
3

60np = ] rks n dk eku gS &  

  (A) 3   (B) 5   (C) 9    (D) 20  

SET - I 



7.  If universal set X = {1, 2, 3………20}, A = {1, 2, 3, 4, 5}, then the value of ( )
1

1
A  will be - 1 

  (A) {1, 2, 3, 4, 5},   (B) {6, 7, 8, 9 ……20}  

(C){1, 2, 3}    (D) {5, 6, 7, 8} 

 

  ;fn lef”V leqPp; X = {1, 2, 3………20}, A = {1, 2, 3, 4, 5},  rks ( )
1

1
A  dk eku gksxk &  

  (A) {1, 2, 3, 4, 5},   (B) {6, 7, 8, 9 ……20}  

(C){1, 2, 3}    (D) {5, 6, 7, 8} 

 

8.  
If 

3 9 6

7 8 4
X

 
=  
 

and 
1 6 10

4 5 7
Y

 
=  
 

, then value of X +Y is - 
1 

  
(A) 

2 3 16

11 3 3

 
 
 

 (B)
3 9 6

7 8 4

 
 
 

         (C) 
3 54 60

28 40 28

 
 
 

 (D) 
4 15 16

11 13 11

 
 
 

  
 

  
;fn 

3 9 6

7 8 4
X

 
=  
 

vkSj 
1 6 10

4 5 7
Y

 
=  
 

] rks X +Y dk eku gksxk & 
 

  
(A) 

2 3 16

11 3 3

 
 
 

 (B)
3 9 6

7 8 4

 
 
 

         (C) 
3 54 60

28 40 28

 
 
 

 (D) 
4 15 16

11 13 11

 
 
 

  
 

9.  The probability of drawing a red colour card out of a pack of cards is - 1 

  
(A) 

1

2
  (B) 

1

4
   (C) 

1

52
   (D) 

1

26
 

 

  ,d rk’k dh xÏh esa ls ,d yky jax ds iÙks ds fudyus dh laHkkouk gksxh &  
  

(A) 
1

2
  (B) 

1

4
   (C) 

1

52
   (D) 

1

26
 

 

10.  The median of  80 100 90 170 60 50 40 is - 1 

  (A) 80  (B) 170 (C) 90   (D) 60  
  80 100 90 170 60 50 40 dk ef/;dk gS &  
  (A) 80  (B) 170 (C) 90   (D) 60  
11.  

The value of determinant 
2

5 5

x x

x
will be - 

1 

  
(A) 0  (B) 1  (C) 5   (D) 25  

  
lkjf.kd 

2

5 5

x x

x
dk eku gksxk & 

 

  
(A) 0  (B) 1  (C) 5   (D) 25  

12.  The sum of first five terms of the series 2, 8, 32, ……………is - 1 

  (A) 682 (B) 748 (C) 996  (D) 1024  

  Js.kh 2] 8] 32]-------------- dk] igys ik¡p inksa rd ;ksx gS &  

  (A) 682 (B) 748 (C) 996  (D) 1024  

13.  The mean of 5, 8, 11, 16, 15 is - 1 

  (A) 10  (B) 11  (C) 12   (D) 13  
  5, 8, 11, 16, 15 dk ek/; gS &  



  (A) 10  (B) 11  (C) 12   (D) 13  
14.  When an unknown value is estimated with the help of known values using a specific 

method, it is called ………….. 

1 

  (A) Interpolation  (B) Probability 

(C) Relation   (D) Expansion 

 

  tc Kkr ewY;ksa ds vk/kkj ij fdlh vKkr ewY; dk vuqeku fdlh fo’ks”k jhfr ls yxk;k tkrk gS] rks 
;g -------------------- dgykrk gS A 

 

  (A) vkUrjx.ku  (B) laHkkouk  (C) laca/k  (D) foLrkj  
15.  If { , ,c,d}A a b= , { , , , }B b d e f= then the value A B∩ will be 1 

  
(A){a,b,c,d,e,f } (B) {b,d }  (C) {a,e,f }  (D) {c,d,e}  

  ;fn { , , c,d}A a b= , { , , , }B b d e f= rks A B∩ dk eku gksxk &  

  
(A){a,b,c,d,e,f } (B) {b,d }  (C) {a,e,f }  (D) {c,d,e}  

  GROUP – B ¼[k.M &c½    ¼[k.M &c½    ¼[k.M &c½    ¼[k.M &c½                            5x3 = 15  

16.  
If 

5 4

3 1
A

 
=  

− 
, 

2 1

0 4
B

 
=  
 

and 
3 2

1 0
c

− 
=  
 

then find A + B- C 
3 

  
;fn 

5 4

3 1
A

 
=  

− 
]

2 1

0 4
B

 
=  
 

vkSj 
3 2

1 0
c

− 
=  
 

rks  A + B- C Kkr djsaA 
 

17.  Find the chance of throwing exactly 10 in one throw of 3 dice. 3 

  3 iklksa dks ,d lkFk Qsadus ij Bhd 10 vkus dh Ákf;drk Kkr dhft,A  

18.  Find the value of r, if 6 30Pr
=  3 

  ;fn 6 30Pr
= gks] rks r  dk eku crk;saA  

19.  

Find the value of 

1 5 9

7 6 4

2 0 7

A =  

3 

  1 5 9

7 6 4

2 0 7

A = dk eku Kkr djsaA 
 

20.  The sum of how many terms of the series 5 +7 +9 +……….will be 572 ? 3 

  fdlh Js.kh 5 +7 +9 +……….ds fdrus inksa dk ;ksx 572 gksxk \  

  GROUP – C ¼¼¼¼[k.M & l½      [k.M & l½      [k.M & l½      [k.M & l½      6 x 5 = 30  

21.  
If 3 3 3x y axy+ = , then find 

dy

dx
 

5 

  ;fn 3 3 3x y axy+ = ] rks dy

dx
 Kkr djsaA  

22.  
Find the value of 

1

1

x
dx

x

+

−
∫ . 

5 

  1

1

x
dx

x

+

−∫  dk eku fudkysaA  

23.  Find the sum of the following series to n term 2 31 2 3 4 ..........x x x+ + +  5 



 

  fuEufyf[kr Js.kh ds n inksa dk ;ksx Kkr djsa 

2 31 2 3 4 ..........x x x+ + +  

 

24.  In how many ways can 5 men sit around a table ? 

fdrus rjhdksa ls 5 O;fä ,d Vsfcy ds pkjks vksj cSB ldrs gSa \ 

5 

25.  Fit a straight line method of least squares and estimate the value of 2006 5 

  Year    1981 1991 2001 2011 2021 

Production 

(in million 

tons) 
40 48 32 40 56 

 

 

  U;wure oxZ jhfr }kjk ,d ljy js[kk miufr lehdj.k vklaftr djsaa rFkk 2006 dk ewY; vuqekfur 
djsaA 

 

  o"kZo"kZo"kZo"kZ    1981 1991 2001 2011 2021 

mRiknumRiknumRiknumRiknu    
¼¼¼¼fefy;u Vu fefy;u Vu fefy;u Vu fefy;u Vu 

esaesaesaesa½½½½    
40 48 32 40 56 

 

 

26.  Find the Median 5 

  
    

Marks 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60  

No. of 

Students 
10 15 30 32 7 6 

 

  ef/;dk fudkfy,  

  
 

vadvadvadvad    0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60  

Nk=ksa dh Nk=ksa dh Nk=ksa dh Nk=ksa dh 
la[;kla[;kla[;kla[;k    

10 15 30 32 7 6 

 

  GROUP – D ¼[k.M & n½    ¼[k.M & n½    ¼[k.M & n½    ¼[k.M & n½      5 x 8 = 40  

27.  Estimate the missing value in the following table. 8 

  
 

Year 2001 2002 2003 2004 2005 

Value  100 107 - 157 210 

 

  fuEukafdr lkj.kh esa vKkr ewY; dk vuqeku fudkysa &  

  
 

o"kZo"kZo"kZo"kZ    2001 2002 2003 2004 2005 

funsZ’kkadfunsZ’kkadfunsZ’kkadfunsZ’kkad    100 107 - 157 210 

 

    

28.  From the pack of 52 cards, 2 cards are drawn at random. Find out the probability of 

drawing an ace and a king. 

52 iÙkksa ds rk’k dh xÏh ls nSo fof/k ls 2 iÙks ,d lkFk fudkysa tkrs gSaA Ákf;drk Kkr djsa fd 

,d ,Ddk vkSj ,d ckn’kkg gSA 

8 

29.  

Prove that :

2

2

2

11

1 1

1 1

a aa bc

b ca b b

c ab c c

=  

8 



  

fl) dhft, fd %

2

2

2

11

1 1

1 1

a aa bc

b ca b b

c ab c c

=  

 

30.  In a group of 70 people, 37 like coffee, 52 like tea and each person likes at least one of the 

two drinks. How many people like both coffee and tea ? 

8 

  70 O;fä;ksa ds lewg esa 37 O;fä dkWQh ilUn djrs gSa] 52 O;fä pk; ilUn djrs gSa rFkk ÁR;sd 

nksuksa is; esa ls dksbZ ,d vo’; ilUn djrk gSA fdrus O;fä pk; vkSj dkWQh nksuksa ilUn djrs           

gSa \ 

 

31.  Find out the mode marks from the following distribution of marks of 22 students. 8 

  Marks less than 10 20 30 40 50 

No. of students 3 8 17 20 22 
 

 

  22 fo|kfFkZ;ksa ds ÁkIrkadksa ds fuEufyf[kr fooj.k ls cgqyd ÁkIrkad Kkr dhft,A  

  
 

ls de ÁkIrkad 10 20 30 40 50 

fo|kfFkZ;kas dh la[;k 3 8 17 20 22 

 

 

 


